Zadatak 2.

Rje%enje.

Napis prvih pet €lanovaniza (an) ako je:

1) an=[vn]; 2) an=|Vn®+nl;
3) a, =1log0.1"; 4) an = [logyn|;
5) an =sinzan; 6) anzcoszign.
1) an = [V
a = [Vl =1, a=|vV2] =(141...] =1,

|
aa= V3= |173.. =1 a=[Va4|=[2]=2
as = [V5] = [2.236...| = 2;
2) an=|[VnZ+n];
a = [V2+1 = V2] =1 a=[V2+2=|VE =2
ag= V343 = |VI2| =3 a= |[V&+4=|VD| =4
a5 = [V52+5] = [V30] =5
3) an = 10g0.1" = log(10~1)" = log 10" = —n;
ap=-1 a=-2 a3=-3 a=-4 a5=-5
4) an = |logyn|;
ap = [logy 1| =0, ap=|log;2| =1, az=|log3| =1,
ay = [logy 4] = 2, a5 = [logy 5| =2
5 an=sinzn; sin(n-7)=0,neN =

g =ap=ag=ay=a=...=0,
2
6) an = cos = ;
3
a —cosz—n——} a —cos4—7r——}
1= 2T T Y
8n 2n 1
az = cos(2r) , ay = Cos 3 cos 3 5

—cos 0T s 1
8 = (0S5~ =S = —5





